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SUBJECT - ECONOMICS
One mark questions :
1) What will happen to equilibrium price, when demand is perfectly elastic and supply increases ?
2) Draw the demand curve of a firm under monopoly.

3) The following diagram shows the supply curve of three commodities. Rank their price elasticities





4) What is break-even point?

5)  What is the other name of AR?

6) What is the balance of visible items in the balance of payments accounts called ?
7) What is meant by currency depreciation?

8) In a Govt. budget primary deficit is Rs. 50,000 crores and interest payment is Rs. 8000 crores. How much is the fiscal deficit ?

9) What is a bank rate ?

10) What is liquidity trap?

Three mark questions :

1) Calculate Gross National Disposable Income.

	Items
	Rs (in crores)

	(i)  National income
	2,000

	(ii) Net current transfers from ROW
	200

	(iii) Consumption of fixed Capital
	100

	(iv) NFIA
	(─) 50

	(v) Net Indirect taxes
	50


2) Industry ‘A’ sells its entire output of Rs.500 cores Industry ‘B’. ‘B’ adds a value of Rs.100crores to it and sells half of its output to Industry ‘C’ and the rest of it to private consumers. ‘C’ adds the same value as B to its intermediate inputs and sells it for final consumption. Determine Gross Value Added by each industry.
3) If MPc = What is the value of K?

4) What is the relationship between APC and APS? Can the value of APS be negative ? If yes, when?

5)  Explain the ‘standard of deferred payments’ function of money.
6) Why is production possibility curve called the opportunity cost curve?

7) Distinguish between increase and expansion in demand?

8) A decline in the price of good ‘Y’ by Rs.5 causes an increase of 20 units on its demand which goes up to 50 units. The new price is Rs.15 . Calculate price elasticity of demand.

9) Give the meaning of decreasing returns to sale. Why do they arise ?

10) Fixed cost of a firm is Rs.60. Calculate ATC and AVC at each level

	Output
	1
	2
	3
	4

	MC(Rs)
	30
	26
	28
	32


Four mark questions
	Complete the output(units)
	Following price(Rs)
	Table :- MR(Rs)
	TR(Rs)

	1
	─
	10
	─

	2
	9
	─
	─

	3
	─
	─
	24

	4
	─
	4
	─


2) State the total expenditure method of measuring price elasticity of demand.

3) The market demand for a good at Rs.4 per unit is 100 units. The price rises and as a result its market demand fall to 75 units. Find out the new price if the price elasticity of demand of that good is (─) 1.
4) When will a) Simultaneous increases and b) Simultaneous decreases in both demand and supply not affect the equilibrium price ? Explain with the help of diagrams.

5) Distinguish between perfect competition and monopoly. Why is the demand cure facing a firm under perfect competition perfectly elastic ?

6) Mention the items included in current account and capital account of balance of payments.
7) Explain the determination of equilibrium rate of exchange.

8) Distinguish between

a) Direct and indirect taxes.

b) Revenue receipts and capital receipts.

9) Explain the process of credit creation by commercial banks.

10)  What are the components of Aggregate demand ? Explain.

Six mark questions

1) From the data given below calculate National Income by (i) Income Method and (ii) Expenditure method

	
	
	Rs(in crores)

	(i)
	Govt. final consp . expend
	7341

	(ii)
	Indirect taxes
	8834

	(iii)
	Gross fixed Capital information
	13248

	(iv)
	Mixed income
	29267

	(v)
	Subsides
	1120

	(vi)
	Change in stocks
	3170

	(vii)
	Rent, interest & profit
	9637

	(viii)
	Consp. Of fixed capital
	4046

	(ix)
	Pvt. Final consp. Expand
	51177

	(x)
	Exports
	4812

	(xi)
	NFIA
	(─)255

	(xii)
	Compensation of employees
	23420

	(xiii)
	Imports of goods and services
	5664


2. Explain the steps & precautions of calculating National income by income method 

3 )Are the following included in National income . Give Reasons

(i) Sale of second hand goods

(ii) Transfer payments

(iii) Leisure time activities

(iv) Interest on public debt

(v) Income from sale o old shares.

4) Find private income & personal income.

	
	
	(Rs. crores)

	(a)
	National Income
	800

	(b)
	Indirect taxes
	70

	(c)
	Subsides
	10

	(d)
	Savings of non-dept . enterprises
	30

	(e)
	National dept interest
	50

	(f)
	NFIA
	(─) 20

	(g)
	Consumption of fixed capital
	40

	(h)
	Current transfer from Row
	45

	(i)
	Income from DP accruing to govt sector
	60

	(j)
	Direct taxes
	40

	(k)
	Savings of Pvt. Corp.sector
	80

	(l)
	Current transfer from govt
	90

	(m)
	Corporation tax
	25

	(n)
	Profit
	100



5) How is the Saving = investment approach of income determination derived from the aggregate demand and aggregate sup[ply approach.
6) In an enemy investment increases by Rs.200 crores. As a result , total income increases by Rs. 1000 crores. Calculate  MPC
7) An increase in investment in a country leads to increase in national income by Rs.200 crores . If MPC is 0.75. What is the increase in investment?
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